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1. (30%) Consider an individual’s utility function: u(w)=w? where w is income
or wealth. If the individual is to facing the probability of 0.50 for either
receiving $2 or $0, please to answer the following questions:

(a) (10%) Calculate the values of “certainty of equivalent”.
(b) (10%) Determine the individual’s risk attitude.
(c) (10%) Calculate the amount that the individual is willing to avoid the risk.

2. (30%) Consider the profit functions for two firms:

1, (p1, p2) = 20py — p? + pp; (firm#1)
,(py,p2) = 20p; — p3 + 12 (firm #2)

where p,; and p, are the prices determined by firm 1 and 2 separately.

Please to answer the following questions:

(a) (15%) If the price of firm # 2 is determined by the price of firm # 1, please to
calculate the prices and profits for those two firms.

(b) (15%) If the prices of the two firms are simultaneously determined, please to

calculate the prices and profits for those two firms. —
3. (30%) During the year of 2018, the US launched a series of tariff imposing "¥*m'
activities against the China, China also adopted the retaliated activities. :,1 |
Assuming the two countries produced two goods, agricultural products and jﬂg
A"

manufacturing products. i,,r]g

(a) (15%) Please to use the partial equilibrium analysis to analyzing the econo AR
effects.
(b) (15%) Please to use the general equilibrium analysis to analyzing the

economic effects.

4. (10%) During the year of 2018, the US Federal Reserve Bank has raised the fund
rate for four times, please to propose the reasons and to analyze the economic

aeffects.






